292.0-

250.0 Plot
200.0
Index

150.0 /N \\

100.0 \V Save Params
E 50.0 Clear
©
= I T [ I T I T | [ I T I T I T I T I T
'.50:3 00 T T 1 N I T 11 T T 1 [INT T T T 1 T T 1 T T 1 T T 1 T T 1
@]

0 500

' \ ‘\ Print
-100.0
-150.0
\
-200.0 \i AN /
N

/

-267.5+ A |
0 20 40 60 80 100 120 140 160 180 200
Time (msec)
peak-to-peak amp: 406.60 Vv Current Record Baseline Record
=) SN/A
A-Wave B-Wave
implicit time: |17.25 msec implicit time: [48.63 msec Time Span

Param Saved
amplitude: -241.85 pv amplitude: 406.60 v ’m



